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Overview RECALL
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Check

« 4
¢« 5
16
AB,C,X P(A), P(B), P(C),
P(X|A), P(X|B), P(X|C)
AB,C P(AIX)

P(AIX)




Bayes’ Theorem —— RECALL ——

AB, B, B O

Ul i rBi Q
Bi

P(B,|A)

(5, | 4~ PEIPAIB)
> P(B)P(A|B)
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RECALL
XY
a,b,cd
a X b c Y d
a,b,cd
Pa X b c Y d
Pa X bPc Y d
XY
1
2
2
Y
XY
P X=X Y= P X=x P Y=
XY
1 a=b=x, c=d=y
2
X:1,2,3,4,5,6
Y:1,15, 2, 25, 55,6




X,y
P X=x

X,y

Y

ZP X=x P Y=

16

XX X3 N 1,072

Xl,XZ’XS

Y= X, #X,+2X, /4,
Y= X +2X,+3X, 17,
Y= X #2X 42X, /5

M

=0, o=1
X, >-0.25 -1<X,<1
=2, o2=4
W= X, +2X,+2X; > 8




RECALL
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(S ) o’
EO©” O
(SN S
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16 4 1
3 n=144
X"=171.0 cm 02=36 cm?
]
n=144
3 M 95% 90%
10 10 3

170.0cm
5% X’




16 4 2

i}
XXy 0 X,
n- oo
X1 %X . Xy
16 4 3
RECALL
M o?
N b o?n
i o?
E 4 ><n > 1/n 8]
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b 95% 90%

RECALL

e« X Np o¥n

- Z )_(-p | ol~v/n

e P -z a2 Z z a2 A4
Y laza P Z zoa =a

Z NO1

e T
P ;(-z a2 o~/n p >_(+z a2 o~n vy
M 100y %
X-z a2 oV/n X+ a2 ol/n
4 4 3
(8 5%
RECALL
e P -z al2 Z z al2 \V4
Yy l-o
Pu-za2 o~/n X J+z a2 ol~/n vy

M-z a” ol~/n

M +2Z a2 o/l/n
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. 5% X M 95%
- Ho K Mg
Hy M=Hg
My, 1 1001 o %
X o
- M, 1700 95%
5
10 X
X
X
PX 2
3% X
e 2
« X B 10,05

PX 1 PX 2
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2

binomial distribution

X Bnp

n xp* 1l-p ™
np V np 1-p

B n,p np, np 1-p

Z= X EX [vYWwX = X np /v np1l p

N 0,1
B n,p B 1lp n
16 6
9 27
673 251
7 30
257
6
2

12



—
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251/673 0.373
30
X B 30,0.373

Kb E X 300373 11.2
6

V X 30x<0.373><0.627 7.0
o V7.0 265

PX M 20

673 704 251 262
9 28 31 11
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